Cubic Polynomial - Application

| Warm-up 1

A car dealershlp s profit can be modeled by the function P(x) = x3+ Zx +
400x — 400, where x is the number of cars sold. How many cars Wlll they
“have to sell to make $40,000 in proﬁt"

Find the solution: 7. %’7 o \’)b%‘vwe.em 24 Omd 30 @y

| Explain two Ways that your calculator could help you solve this problem :
\) Sed- Mo gguahion egual fo 200, Lot sintocpys w34 LxHHHO0X = HOU =0

. 12) \i‘_, x%a;xlﬁu()x -Hud Y, = H, 003 rndﬂiﬂ-)-ﬁflﬁci‘ﬁtiﬁ
Warm upz .

Mars _Inc- js going to make an’ open-top box by cutting
equal squares from the four corners of a 12 inch by 18
inch sheet of cardboard and folding up the s1des

Sketch a diagram to represent this problem.

Write a polynomial to represent the area of the base of the box:

ﬂ«m [engthn Wile
= (152 1a- z/<) QA6 - GOX U \

. Write a polynomial to represent the volume _of the box:

Volioe = lencne it '\r\ib\ob\*' 3 . |
h ’(%j i) = b0 ex

- What size square should Joe cut out to yield the maximum possible Volume‘?
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Cubic Polynomial - Application
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: Homework/Classwork :
You are deS1gnmg a swunmmg pool with a volume of 4800 f t3. The width of the .
pool should be 7 feet more than the depth. The length should be 32 feet more than
the depth. What should the dimensions of thls rectangular swimming pool be?

C Volz Rewe s D% wW=is L
500 = ( D+RO(D)
Hgao =(D 3D +334)(0)
HZ0o = D+ 34D D
The height of a box that Caleb is shipping is 3 inches less than the width of the box.

The length is 2 inches more than twice the width. The volume of the box is 1540 in?,
What are the dimensions of the box?

Wiw-3)(Qwrd = Isdo W= 10 "
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3 s = \sHO
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A rectangular shipping container has a volume of 2500 cm’. The container is 4 times
as wide as it is long, and Scm taller than it is wide. What are the dimensions of the

container? B ﬁ - 5
(YUY H42rs) = 9500 20
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J oe is going to make an open-top box by cuttmg equal squares from the four corners
of an 11 inch by 14 inch sheet of cardboard and folding up the sides.

Sketch a dlagram to represent thrs problem.

Write a polynomlal to represent the area of the base of the box:
Avea={1-20(14-2x) = Ux*-BO X HIS ¢
Write a polynomlal to represent the volume of the box:

\/GUM (\( -E0x 5 )(X)‘” }x'5ox ystfx

What size square should Joe cut out to yleld the max:mum possmle volume‘?
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